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k .
OptCost(i,r —1

Zf[i] + min g ( ).

‘= i<r<k + OptCost(r +1,k)
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0 ifi>k
OptCost(i, k)= {
P yK) = OptCost(i,r —1
F[i,k]+ min P ( ) otherwise
i<r<k + OptCost(r + 1,k)

OpTIMALBST(f[1..n]):
( INITF(f[1..n])
S'O ~ fOI‘l‘—ltOfl-i-I% r\pg} f‘o‘\
-~ OptCost[i,i —1] « 01 5 =QO
ford <~ 0ton—
forie—1ton—d .or whatever))
mCOST(l i+d)
return OptCost[1,n]
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s reaumence (W C@A&U -

TREEMIS(v):
skipv <« 0
for each child w of v
skipv « skipv + TREEMIS(w)

keepv <~ 1

for each'grandchild x of v __ (_
keepFe=keepv + y>AAS. \ (\eg’}/\lS s

v.MIS «/max{keepv.skipv}
return v. MIS
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TREEMIS2(v): /{-6
v.MISno <« 0
v.MISyes « 1
for each chi _—
ACK ei?MMSno+ RE 2(w) >
U?W*(SQQ v.MISyes < v.MISyes
%retu max{v.MISyes,v.MISno} ‘\QL
, N
el do
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